x1073

o
[N

) E : : : :

€ : : : :

20190 R

S F : ; : :

© 0.1 : -l ] Y| P

v E ! : : :

0.05F - -t Y| SRR
oft ti R R Al
NI R 5

-0.05f - t 4| I

_0.1:- 'l‘ E- .....

TP n (PCA to beamline)

o
[N

< d cot(B) >
o
[
[6)]
1

0.05

.........

i

1 2 3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-|

newgeom

<o dxy > (um)

N TR TN R R

1 2 3

<op/p. > (%)

T 2 3
TP n (PCA to beamline)

Ratio

A+
T T
e
= . I
4 L

— 100

(@)
TIT T T T[T [TI [ PP T[T T[T [T T [ TTr Tt

= 2 ] Y I

L 2 3
TP n (PCA to beamline)



	Contents
	Page 1


